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248 20lat LBte A SEE3
FA =823
Hu: LU SRS 4FES 2522 X4
chel: B9 - MAI23 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=Y Setela 2,000,782 1,943,474 57,308
Al 500,000
- 1,500,782
FRAU EARE FEE2 282 &4 1,895,216 1,843,967 51,249
Al 500,000
- 1,395,216
3¢ - MAI2E 243t 598,052 570,092 27,960
=389 - JAl 2E 596,252 568,292 27,960
201 Ler23 | 291,002 303,042 12,040
01 At2t2ltl 169,802 181,842 A12,040
Oo=3tzeld M 6402 +1,40001~ 12 10,752
O=2gda a4+
100,000 x 132 *23] 2,600
OJI8&Ed 822 M 65,000
OJI=EALUSHA EE22 HH 36,000
DTN S2SHE (B2, IAH, 22
HES) 8,000,000& 42| 32,000
—JIEIEAl 22t E824|
1,000,000 *43] 4,000
OJ8l8d, S8+23%3 S 36,450
-LHEIR 700,000 58} A 3,500
SAME= 500,000& 152/ *30% 2,250
=5 7¥ 2,700
-ZHl Si=z 10,000, 000& x23] 20,000
-2 gtz 1,000,000 %52 5,000
-II0t: &8 150,000& »202] 3,000
Osd=+25%3 249l &8 HAe=g
200,000 x5 +23] 2,000
OJI& Al 2928 78 2,000
OJ1& Al &3 285 € X2
5,000,000& 32 15,000
2 52434l 6,000 6,000 0
Ogt=&3sttl=32HEs 2/l
5,000,000& *12] 5,000
Osgt=20a2Hgs F23 X3 2
1,000,0002 %12 1,000
03 A2 I 115,200 115,200 0
OJ18 &Al =l 110,000
—JIETA 60,000
“O{El0l S &EAl 50,000
SYRAEUERI|AAE EHZ IHA 5,200
301 22N = 305,250 265,250 40,000
11 AALEIXIES 293,000 253,000 40,000
OR8¢ | 40,000,000& %52 200,000
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FA =823
ZE: L3 ENRE +EES 2032 14
thel: 3¢ - MAI2S 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O1Al E&Xl 2ZXE 8,000,000 62 48,000
O1Al E&iXl 2NE 224 MHIA X2 5,000
O3E+=23%3 £01t 262
1,000, 0002 *402] 40,000
14 JIEt2d = 12,250 12,250 0
OSERA2EEI|AHAESH A =& 12,250
-HEHAL HA=E 150,000& »493= 7,350
“EAZAL HA=E 100,000 x49== 4,900
ot gF gdsg = 1,800 1,800
203 =4l 1,800 1,800
03 A= PR FZ| 1,800 1,800
O=3e 243 =4
2,000,000 *90% 1,800
=32 E 29 168,020 146,180 21,840
ZotAE 29 168,020 146,180 21,840
201 er23 | 15,440 12,480 2,960
01 At2teltl 16,440 12,480 2,960
O=35t2 2t ot 2IE3 M 6,000
-0 A& 8002 x1,5000H*43] 4,800
-SE0l=2%t 4002 *1,50004%28] 1,200
O=32 82= M& 3,240
=t 75,0002 x40 +63] 1,800
-BHL 60,0003 *4 4 +63] 1,440
O=st4a eBt=EH| 3,000
O=2zd %t =45 M
1002 %1,0000H*42] 400
O=2zd% =2d 42 &H3 2= MH 800
O=2d% +=2dd £Z LH3 HA=S+
o 2,000
301 Eet2 NS 152,580 133,700 18,880
11 #AIAHIXIE S 1,200 1,200 0
O=3t2 % ~2d X5 LH3I 1,200
14 JIEt2 8= 151,380 132,500 18,880
O2std 2t 2 A& 150,880
—2A12t =¥ 150,880
olmet2 %
130, 0002 122 Xp+4 2| +232} %t 143,520
SEo=2
230,000 +83| A+22| x224 £t 7,360
Ot T2 32 dAlsg
100,000& 5 *13] 500
e =ated &4 1,129,144 1,127,695 1,449
Al 500,000
- 629, 144




2A:

ZM: LU ENRE +EES 2032 14
Chel: WS 2aEd =4 EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AL 2tel 808,612 711,674 96,938
Al 383,224
- 425,388
101 @12A4H| 23,838 23,838
04 JIZtNZ2 2SS+ 23,838 23,838
O=xt2te|d ey 23,838
-JlZ2s 86,3033 x1H*195& 16,830
-5 AXs=g
86,3032« 12 % (3H8) & 4,057
—=0HASEE= 20,885,320 4. 5% 940
-=UASEES 20,885,320 %3.545% 41
-IELEE 20,885,320 *1.75% 366
“MHEEE 20,885,320 * 1% 209
- |RALEE
20,885,3202+3.545%12.81% 95
-2 S0l 300,000& %12 300
-SXXEQIE 300,000 %12 300
201 =3 674,771 653,271 21,500
Al 369,179
- 315,592
01 At22t2lt] 4,636 4,636 0
O34y, 23 S d=)| dE=
30,0002 «11CH*12& 3,960
Al 3,960
Odz=I| &= 44,0002 *1CH*42] 176
Al 176
Of gy 2e 20,0002 *102f A 200
Al 200
OJtHigeIor S 2 & =5 8 ==
= 300,000& %12 300
Al 300
02 324l 670,135 648,635 21,500
(OFSPIRS4= 9,560,000 «12& 114,720
OY - e TADIA AIZZE
4,200,000~ 12& 50,400
Al 50,400
O - ot AIEZ 1,000,000& «12& 12,000
Al 12,000
OsZ)| HIa4SaEX SAUMHIA AIZE
11,5502« 128 139
Al 139
O3y e d83d ME=
12,2002~ 128 1,347
Al 1,347




2A:

Hu: Lol BARE 4Zme 28T X4
Chel: WS 2aEd =4 EEREE
Za - 29(8) - HRAR - BaS of v G o HIDE2
Ool~that gl weig 40,00024%13] 10
A 4
OAgorERI2I X B3l
48,0002 +12] 48
A 48
OmIIERI2IX B3l
00,0002 +12] 100
A 100
ORI EH HYUOTHE
2,500,000 x43] 10,000
A 10,000
O2AF BN 242 1,870
20| HII2A 600, 0002!+13] 600
A 600
SIESYR-BIEW 200, 0002 +13] 200
A 200
HAE A 90,0002 +13] 90
A 90
SVESIEEN 880, 0002 +13] 880
A 880
OM4AE B4 242 918,50021+23] 1,837
A 1,837
ORSE 24 442 50,0002 +13] 50
A 50
O24+HEE BRI 200, 0002123 2,400
A 2,400
Onsfurea 250,0002413] 250
A 250
OASS FIVHEY
2,000,002 +23] 4,000
A 4,000
OAE U TH BAE4 38,000
A 38,000
OBABY /It Ha 242
700,0008!+13] 700
Al 700
O=XIH(X) 22l 17,000
A 17,000
OV, 214, SAIEH| ST 22 10,000
A 10,000
OIHAH 26 L BT 13,550
e SIE-T 200, 000211 2,200
A 2,200
~=x)| WE DA 31,0002!+15871 4,88
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2A:

Hu: Lol BARE 4Zme 28T X4
Chel: WS 2aEd =4 EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,898
“EADEA H2D] E& 3l 500
Al 500
-S4l H24D((400R/T) M2t & H2tE Al
= 5,400
Al 5,400
-Hla 2HI| /X2 552
Al 552
OFddZ WA & &I|2H RA2+ 20,000
-FHEZ W 10,000
Al 10,000
-&J1EHl A2+ 10,000
Al 10,000
OAPANE(RES IS S) KA 6,000
Al 6,000
Odittgll E 250, 000& »20CH 5,000
Al 5,000
O&IIEH ESA 1,500,0002 %12 1,500
Al 1,500
ORogA BHlESHH| 273,750 x 122 3,285
Al 3,285
O=It2NAIE CIEH AIEE
28,0003+ 12 336
Al 336
OUXE =t 31,900& ~12& 383
Al 383
O&a 89 339,240
Al 138,368
T 200,872
OAZAIE 228 E9
560,000 122 6,720
Al 6.720
Osd| 2c18E 89
300,000& %122 3,600
Al 3,600
ogd g4 285,000 %122 3,420
Al 3,420
OlolE LE=2 NWIEIES
1,100,000 #23] 2,200
Al 2,200
206 M=Hl 24,045 24,045 0
Al 24,045
01 M=4l 24,045 24,045 0
d2E A4S 37,40024+60 £ 2,244
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2A:

=]

=Z =2t/

T SR SHRE 2EES 23T X4
ool jHst 2sted &4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,244
OIAAE 22l £2E 1,000
Al 1,000
O3t ANBE 10,181
Al 10,181
OZ2A+S BE5 LHAE S 2,620
Al 2,620
O&JIN= 20,000 x25%+*1,600S 8,000
Al 8,000
301 EtE NS 36,058 21,958 14,100
10 A=2RE2asS 36,058 21,958 14,100
OAtsl=e2d 24 35,386
-=3(40i2 28
1,250,000 x2&* 122 30,000
~E 4| 7000252221522 x 122 3,69
-nEt| 3, 20024222422 128 1,600
OAIS8223 II=H| 336,870 x2& 672
401 AIZHIZ SO 43,000 43,000
01 AlHI 43,000 43,000
OSMI SFA U 2EFR &X| 18,000
TOIF B OfHl IHREAY Sa 25,000
405 AtatE = 6,900 12,400 A5,500
01 Tt =S F=SH 6,900 12,400 25,500
OmIIoHE B2 | 7L
1,900,000 «1CH 1,900
OSEas|T PHTAT (PS) 70}
2,500, 0002 *2CH 5,000
e S 1,180 630 550
201 Qe 1,180 630 550
2 s=5=34l 1,180 630 550
OXFSTHAl 30,0002 +12] 130
Oxr&=Al2ell 500,000 1CH 500
OsSiEE= 550,000 1CH 550
S FAl 2l 319,352 315,391 3,961
Al 116,776
7 202,576
101 2121 6.431 6.431
MU OIIRNZZ2NSES 6,431 6,431
OSLII - 88 - XY o &3
179,780 x1&»35 6,293
SO0 - S8 - XY 0 MYREE(A
A4 =) 1,47021%1%%352 52
ORLIIH - 8% - XY Q2 NELEE(A
SESR=) 2,430%1+121x352 2




2A:

M. Ll E)BE 4E=S 2522 XM
¢l IS 23Ed =4 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 U= 115,986 144,760 28,774
A 114,258
7 1,728
o Azl B.364 18,04 A4
OAZIT2TF S4iH
0002 #3446+ 128 1,728
OBAIF SHSANLN S 295 A
12,0002+ 1OHIE+23] 456
N 456
OZAH HIyAE Y
120,002 <27l 240
A 240
OBAIE SI2ANLN S 295 22 5,940
01 XI5 320,002 12H 3,840
A 3,840
SNCE 300,00027H 2,100
A 2,100
@ zz22 107,622 131,666 24,044
OB A& SARE 60,000
OI® S (RUESLE) 20,000
A 20,000
~2 01 20,000
A 20,000
~sEay 20,000
A 20,000
SOOI PCKISS ALY 22 89 20,000
A 20,000
OWoH: 2248 22 B 4,000
A 4,000
OBHOIN £ZES0l FX24 9,999
—AEEY0 SABA
64, 118,000+ 124 7,6%
Al 7,695
D8 AAY SXZA
10,200, 0002 +12% 2.304
A 2,304
OZHOIX MBi KX+ 433
~51= 01 (CPU, FAILHOO.NIE) SR 24
13,784, 5702164/ 4 276
A 276
2 ILE 9 04(05,DB) S X1 2
5,215,430 12%/4 157
Al 157
OZOLLEESI0N(B YEs £24) FX2
+ 31,900,000+ 10% 3,190
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2A:

Hu: Lol EHRE AEeS 2522 X4
¢l IS 23Ed =4 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,190
206 M=l 24,000 24,000
01 M= HI 24,000 24,000
O3 RAlzel =23 24,000
-RUIA FA2el =257 8,000
-FUHAY FA2 =57 8,000
-FUSE 72| =257 8,000
207 ARl 21,137 21,137
02 MAHHEHHI 21,137 21,137
OZMOIX e & D&t 21,137
301 LEIEE S 71,280 70,200 1,080
14 JIEt2 8= 71,280 70,200 1,080
OXESAL Bs2a= 71,280
S¥5clE 33,0002 x8Z x153|x 12 47,520
-SHds 33,0002 x4 » 152« 12 23,760
405 AtatE = 80,518 70,000 10,518
Al 2,518
- 78,000
01 AL =S F=H 80,518 70,000 10,518
O3¢& Eotol= 204
1,250,000 «8CH 10,000
Oz=¥=clE& olol=e! HHE <20 X 20,000
O2%M8E LED SPOT LIGHT 10K
6,000,000 ~8CH 48,000
Os¢d =284 =58 7Y 2,518
SHFclE Y ¢ 7Y
95,0003 *1IH*6IH 2 570
Al 570
SHM4s 24 @ 2Y
95,0002 *1JH*40H A 380
Al 380
=H7clE 284 A% 7Y
98,0003 *BIH*2IH 2 1,568
Al 1,568
HY2AZH(SE2sta ) 105,566 99,507 6,059
el 2| 40,888 36,137 4,751
el 2dd| 40,888 36,137 4,751
101 @124H| 40,888 36,137 4,751
02 JIEtME = 40,888 36,137 4,751
OARHEE LI IHM(GHLADHLIM) 40,888
=3 2,270,160~ 128 27,242
-IEE (B2 40,0003 * 122 480
IS (RLIR) 40,000 122 480




SN 3B25EB
. HY2AIAH(SHE 232
chol: ol (19 @)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
—FMZAH| 140,000& = 12& 1,680
-Ag 2=t 175,000 %35/40% 122 1,838
—-Z=U2RE 9,800 *3bA| 2t 12& 4,142
-HRI 8= 50,000 #35/40% 12& 525
-SR-S AIZHEERRI)
2,270,160 40/ 35+84%+5%+ 12 1,308
-3 49,339,000 *6%*35/40 2,591
-2 4|
27,242,000 /122 «84%*86%+ 1/30%1/7+ 77 Al 2+
602
JlZ2&H| 64,678 63,370 1,308
JI2&H| 64,678 63,370 1,308
201 B2 AL| 28,198 26,890 1,308
01 ArR222ltl 23,608 23,824 A216
O=AMEX 7 20,0003 *502 A 1,000
OZeiisE Mz 250& *4,0000H 1,000
OAIRE HA 5 7Y 1,300
O&H 7¢ 3,984
-IElH(SH) 132,000 *3IH +ACH 1,684
~ZelE(2dH) 300, 0002 *8IH*1CH 2,400
OfRAM2HI|I=2+EH|
20,0002 * 18 » 12 x95% 4,104
oga o 1 AIEHI 80,000& 23] 160
O2IEEXN 53
20,0003+ 12+ 123 240
O3dl=dzX =2
10,0002« 12+ 128 120
OAZNsdZX =2
13,000& x 12+ 122 156
OAIZI2I 22Tt SAH(SRAES Z&)
8, 0003 «6AI*x 19« 123 10,944
OKI2R=E(21aA) 600
-S2A 12 20,0003 12+ 128 240
-XI&gX 25 15,0002 x22+ 12& 360
02 2324l 4,5%0 3,066 1,624
OoRERZ 4,530
- Bt 6403 x40024 * 12 3,072
-S| 2,530 35021+ 128 1,518
202 04d| 31,440 31,440
01 =LHO4 L] 31,440 31,440
O&LHo Y] 140,000& 18K+ 122 30,240
QARSI HAI SRS 2L
100,000 x1H* 123 1,200
203 =& 5,040 5,040 0




A 2332
. HY2AIAH(SHE 232
&l D122 (CH9: &S1)
= - d L=
SN - FE - SRS - MRAY - BaS Ol ko R HlRE2

Ofl &k2h

02 BRAIAYREZIY
OFAIMLLETY
WED

M PN2YYREZY
ORNSYHLEXY
ot)

on

on

Hel

gon

iz
=

40,

f 100¢!

000

g 25010|

350,

000&

*218

128

840

840
4,200

4,200

4,200

_10_



